ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 4, Members Subject to Bending and Extension

problem 4.057, page 253

Remarks: See 84.6, pages 168 till 170
Answers 4.57-1:

a. h=260 mm
b. Gpax =9,25 N/mm?

Explanation:

M e = 6,25 KNM

vv:%bhzz'\/'% = hz,/%ﬂso mm
o bo

b. W =1x(60 mm)(260 mm)* =676x10° mm®

~6,25%x10° Nmm

= ——=9,25 N/mm?
676x10° mm

Gmax

Answers 4.57-2:

a. h=230 mm
b. Gpax =9,07 N/mm?

Explanation:
M nax =8 KNm

a. GZMSEZIO N/mm?
W

W=%bh22M% = h> /%:219mm
loj bo

b. W =1x (100 mm)(230 mm)? =881,7x10° mm®

8x10° Nmm

2
= 8L 7x10° 07 N/mm

O-m ax
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